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Dr. O.
Worksheet Sum and Difference Formulas (3.4)

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Find the exact value of the expression.

1) cos 285°
A) - M B) M C) -A2(/3 - 1) D) -a/2(x[3+ 1)
2) sin 255° cos 15° - cos 255° sin 15°
NE NE 1 17
A) - 5 B) > C) ) D) e
Find the exact value under the given conditions.
3) sina:—l, 3—n<(x<27'(; cos[S:——“21, 7-c<[3<3—7I Find sin (a - B).
25" 2 5 2
p 28t 7a/21 gy st 24r[21 o T14- 24n[21 D) 248+ 7a/21
125 125 125 125
Solve the problem.
4) If cos 6 = % 0 in quadrant IV, find the exact value of sin[e + %
A3 +A[15 15 -Af3 ENENE AJ15 - 443
A 8 B) 8 ©) 6 D) 16

SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.

Establish the identity.
5) cos(x - y) - cos(x +y) =2sinx siny 5)

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Find the exact value of the expression.

5 4
-12 512
6) cos[tan P cos 5]

7 13 63 52
A) 3 B) N C) 5 D) 5
Write the trigonometric expression as an algebraic expression containing u and v.
7) cos(sin~1 u + cos-1 v)

A) W1 -u2+ 1 - v2 B) uv + (\/1 - u2)(\/1 - v2)
C) uv - (W1 -u2)\/1-v2) D) w/1 - u2 - tA/1 - v2




